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BQ
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(2) HEKR 2z HREX 24 = —8 —8/3 D% T RTKD &.
(3) ¥l a) =3, READFEERF {a,} D—MEERO L. F7/2, a1, ay,

ADOFHEm B LN %, nEEVAERTHRE.
(1) RA:AB=1:43 , AB=AC &)
RA: AC = [:43
" CR:RA=A3-1{:1
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FrNoTEBIY), E{—‘- X T Xa@c =

. B_Q_ _ { _ ﬁ‘f’f - J3+1
QC " 3(3-1) T 3(F-1)({3+1)
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(2) B=Fr(cos@+isin®) (r>0,050<2m) t&<t 2*=r"(cos 46+ i sin 46)

~%., ~8-85i = 16(-1-2i) = 24{cos(§7r+zmr)+£sm(§ﬂ:+2n)r)} (n:¥#)

f'+(cos4-6 +isin 4-9) = 2+{cos(‘g:+2n)71' +1sin (%1 + 2n)7r}

Lp=2 9:(-%—4--?—)71‘

0s6<2rwd), n=0,1.2,3 ¥fors 6=3£,'g'7r,'5£7r1"g"7r
bAE &Y, Z= 14430, B+, <1431, {3~
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(3) An=3+4(n-1) = An=4n-1
n
= = L1.1 wil}
m = R-E_',aﬁ = Tn(3t4n-1) = 2n+1 )
g2= L3 (4h=1) - (2n+1)°
= LS5 (k- - (4 +4n+1 oy :
nf;(léﬁ 8R+1) = ( nt1) / = 5 (n+1)(n 1) )
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